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UNIT 1 REVIEW FOR ANALYTIC GEOMETRY MIDTERM

Solve for the missing variable:
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21. Identify the dilation and the scale factor of the following:
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22. Given the following has a scale factor 23. Given the following has a scale factor

of k = 2, what would the new coordinates be? of k =Y., what would the new coordinates be?
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23. Identify the transformation that takes place. Be Sbeciﬁc. .. for example, what type of reflection, what type
of transformation (left 2 up 1 for example), what type of rotation?
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, 28. Use properties of quadrilaterals and parallelograms to find the missing variable(s):
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Construct an Angle Bisector: Construct a Perpendicular Bisector:




UNIT 2 REVIEW FOR ANALYTIC GEOMETRY MIDTERM
2L cos 8 = ﬂ tan &= ZBE
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16. if the shadow of this building is $0 meters Tong When
the angle of elevation to the sun is 30°what is the
approximate height, in meters, of the building?
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UNIT 3 REVIEW FOR ANALYTIC GEOMETRY MIDTERM

Find the length of each arc:

Arc Length of a Circle
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Area of a Sector of a Circle
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Volume
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. 13. Given Cylinder 1 and Cylinder 2 have the same height
and the same radius what woud you know about their
volume? (Would cylinder 1’s volume be greater or less

. than the volume of cylinder 2 or would it be exactly the same?)

The volumes weoid bbe
ff&(&(",ﬂ&:} Hhe Samd

A e e e

Find the missing value:
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Simplify the following Radicals:
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20. What will be the end result when an irrational number is multiplied by a nonzero rational number?
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21. What will be the end result when a rational number is multiplied to another rational number?
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22. What will be the end result when a rational number is added to another rational number?
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Identify the following as rational or irrational:
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